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QUESTION 1

Suppose a user ID has been created with DataStage and QualityStage component authorization. Which client
application would be used to give that user ID DataStage Developer permission?

A. DataStage Director client

B. DataStage Designer client

C. DataStage Administrator client

D. Information Server Web Console Administrator client

Correct Answer: C

QUESTION 2

What two repositories does the Source Code Control Integration for DataStage and QualityStage serve? (Choose two.)
A. WebSphere Repository

B. Source Code Repository

C. Universe Project Repository

D. Information Analyzer Repository

E. Information Server metadata Repository

Correct Answer: BE

QUESTION 3

Identify the two statements that are true about the functionality of the XML Pack 3.0. (Choose two.)
A. XML Stages are Plug-in stages.

B. XML Stage can be found in the Database folder on the palette.

C. Uses a unique custom GUI interface called the Assembly Editor.

D. It includes the XML Input, XML Output, and XML Transformer stages.

E. A single XML Stage, which can be used as a source, target, or transformation.

Correct Answer: CE

QUESTION 4
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A DataStage job uses an Inner Join to combine data from two source parallel datasets that were written to disk in sort
order based on the join key columns. Which two methods could be used to dramatically improve performance of this
job? (Choose two.)

A. Disable job monitoring.

B. Set the environment variable $APT_SORT_INSERTION_CHECK_ONLY.

C. Unset the Preserve Partitioning flag on the output of each parallel dataset.

D. Explicitly specify hash partitioning and sorting on each input to the Join stage.

E. Add a parallel sort stage before each Join input, specifying the "Don\\'t Sort, Previously Grouped" sort key mode for
each key.

Correct Answer: BE

QUESTION 5

Identify two restructure stages that allow you to create or organize vectors in the output link results? (Choose two.)
A. Split Vector

B. Column Import

C. Merge records

D. Split Subrecord

E. Make Subrecord

Correct Answer: DE
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